N = 205

205 circles in an isosceles right triangle
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N = 208

208 circles in an isosceles right triangle
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211 circles in an isosceles right triangle
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214 circles in an isosceles right triangle

ius = 0.024894039189  density = 0.833267377488
ratio = 40.170258929217  contacts = 500
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206 circles in an isosceles right triangle
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radius = 0. 025362283181 density = 0.832575800084
ratio = 39.428626865092 contacts = 450

N = 209

209 circles in an isosceles right triangle
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212 circles in an isosceles right triangle
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215 circles in an isosceles right triangle

N = 207

207 circles in an isosceles right triangle
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radius =  0.025302051137  density = 0.832648438770
ratio = 39.522487508753 contacts = 459

N = 210

210 circles in an isosceles right triangle
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N =213

213 circles in an isosceles right triangle
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radius = 0. 024938559239 density = 0.832342730867
ratio = 40.098547410606 contacts = 480

N = 216

216 circles in an isosceles right triangle

radius = 0024776189239  density = 0.833110558306
tio = 40.361332016767 contacts = 477




